[EXIMA H1E o] 2 SIAHFEES2

22tels Sl

Hews a7z
- .
YTARIRIZ AR A -
01-01-C-2100929 72
HIFxY (F)sIHB3n of # Xt SHH AARSEHS 647-88-01131
By U3
AHXF A Me HEZT YW 1495085 (F)SYHBEA HAehx ol 2tx|: 010-8728-3973
o A 02-2643-9309
I3 A=y S3fLia] ZH2H000 Fn (F) ozt oA #olg TV
o3l ALY AELHEIEL H =Ry FELEEIEL Al ZH 28 0% (A2
soind ye
i S 2t 49 It
&mAbg Mel® U (Re L ME)
SMHALI|SAE
HE]
HRE0l0f FH5t2h
e HAzsM JHM)
x| 78 B3
HANel HYY|s
HAEol MEEY
zd 0 LE3) “GiM el AL oLEN
e RS 918 SR AeH000"
*34
St
2s=) Az 20 YIIHAIS S B 4Y”
Mo Ayl YT = YFHHALES| &l
82 3500M O A AbaH |
MU S 78 22oj7t S0l M FE|
U =N HA2SMH JHMol =82 & F U= 71sM 57H1 7]
SHAE oF B SR Y AN EAEYH 21 2SH U= HX 7
gol|
Mol
Hl

g=guxsdo’lT AS

D=9 AN HEE

12 ol

A3 gy

20214 38 31

MolHH bS5 Bt
Alojo| & AolHS 21-N1-06-63

7|Et




[EXMA M1E HH] 2 FOANHELS2 2222 Sl nf s

2
o>
L
jinl

AdE UE(AHS)
=1
2ER) “FHYXISNA~ B st 7|sA LYt
HASMH Mol =82 & = A1)
XNFAHSZE 22 & = U
Aol HAY| s HANl MzEdo Zl
(FB) SZUZ 4571%| S EDLR A ZEEUIIK|
Al
2ES) “of Yol L~ SfLid| Xk 10002 2~ HZSHA &I RHA”
S 21 ZHH S| M F|SHM !
4,50cH 16,7000 17,8000 £
AEZILHFH
Aokx| HZI|SAE S>Ly| XhgH
Stit, &, A F2 381 2408 | REE1 7| ETF 198,000l A1 50% #+H M 2! 12 @157+ 99,0008 I BHEF, 33,0002 01| 1! X| F Wa| FE5t
MLl
xhef]
[Zpabct] Znus «H4Z7|5AE [8el7]|2H ~2021.11.30
[Stctat] 2 &= Z/3/ 5/ SYLH| Xb2H000 / £ 34 7| Z7} 198,000 50% #+H M2 99,000 (F-3)
[ MASSH M EBE2 & F US
IMHE AEZT EEAl: 21~44M HAZsH M At/ 2T 13| 2424 1,59, 3.0g 4702 M3 Z =}
Hxte| 3 RN Bt/ RE A SLSHH ME=S = X2 ofd / EX 1 A AT HeF (2009)
A oAl B8 AL M2 ol B 2R}

HAE0lo F53512H

HA2SYH JH Al

&) A 2A0H YA Eel HF

o s

L7 = YT ALES &l
s 2F 3500M QFC]| A AboH
et 2Yol7L HollM FEI

= Hus 2
Melzy wasg
Mejojz | Aelws 21-N1-06-63 20214 38

EZIXEML

7|E




18
]
x
>
2
fol
wn
e
I
o
K
Rt
[l
o
Hm
mﬂ
o
rjo
ro
u
e
o
ofm
o
El
Bl
n
)
oy
L
jink

0x
11°)
Ho
=
0
X
i}z

AES) SHHASA 5 22 Jsd Uk

HA2ESH Mol =38!

SR ]

ARl HAT|S!

HAHQ MzEdo| 22!

(R R) 457K ZEnIAM & SEHE LR |

ZES) HUdoh Y Rtgto = ALSHA| #I|AHA |

SHE 21 ZHH SHA| A F otMll 2
4,50cH !

HA2SH Mol =8 + X7 ST+ HAE HY|s + HYHU MEz2d
£2{34 7| E7} 198,0008 50% #+IH A 99,0008 (F3)
LR Bh= o H R EojY: SELH|YEHZ HMz{: ®okE

|

=2l &, 72 o|uf BHEILS(Ruid] 24 R E)

~
ne
°
=
10

7| E} HHS 3
MolHH bS5 Bt
Alojo| AolHS 21-N1-06-63

7|Et




